[ ]-2414-2424-] ]

® 2.412,2.426 @ 2.314,2.524 @2.404, 2.434
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2.424 — 2.414 = 0.01°]t}.

wtzhA] 0,014 ol Al7]1E ot
AR [ |=2414-0.01 = 2.404
SRR [ [=242440.01 = 2.434
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3.812 — 2.945

0.867
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3.812 — 2.945 = 0.867
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. 18.029

9.9+9.01 4 3.119 = 14.91 + 3.119 = 18.029




4. 0.001°] 87501 X} 2.864 -2 5 FSIA| L.

> E

> =g 5.886

0.001¢] 8750981 == 8.750| 22
8.75 — 2.864 = 5.886 | T}




5. ZolAe] RAL 2.62kg 0], 19Fo]o] AL FFolx] o] A B}
673g © 7FA5 Utk 7ol et 1ofolo] RA o] gte B kg 917
TOHA| L

673g = 0.673kg
(2ol 9] FA)= 2.62 - 0.673 = 1.947(kg)
2.62 + 1.947 = 4.567( kg)
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